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PART—A

Marks
I Answer in One or two sentences s

I. Define sedimentary rocks.
2. What is meant by workability of concrete ?

3. Distinguish between Tree and Log.

4. What do you understand by damp Proofing in building ?
5. Define a’lintel, :

6
7
8

10. Define ceiling. ' (10x2=20)

PART—B
' (Answer fige full questions)
II (a) How stones are chemically classifieq ? -

(b) Explain briefly the manufacture of bricks, 6
(c) Name any five defects of plastering‘,. 3
OR , *

III  (a) Briefly explain the manufacture of cement by dry process.” 6

(b) What are the characteristics of ap ideal damp Proofing
- material ? 6

(c) . Write any four applications of Py, Q. in building industry, 4

- IV (a) Write any six requirements of foundation, e 4
(b) What are the Precautions to be taken in hrick masonry ? 6
(¢) Name any six classifications of windows, o~ 6
‘OR
[19]




V. (a) Write any four ré:quifcmen“ts of a good roof,.
(b) Why pointing is necessary ? (give six points) &

(c) Briefly explain  the method of painting a new wall using

' A cnamel paint, - 6
VI (a) What zie the charéeteriét‘ics of good stone ? Sl : o5
(b) Distinguish between Foundation aﬁd Superstructure. ; 3 :
() What are the points to be considered while ﬁxi"ng the * ' ala
position of staif cage ? g | ' - 3
s a OR. o Sdmac ‘_.‘ ;
VIT (2) Explain the method of Painting a % 7

(b) Name the classifications of giass,
(¢) Write the methods of sreservation of
VI (a) What are the requiremen
(b) Draw the sketches of dc
(c) \’Vrite’t&_e nethod
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1 (v} Define the following : .
1. Gabled roof.- 3. ¥

2. Rm% s
X The given figure I shows

e

_quantity of thefolibwiixgi P T Ci ! ﬁ}
(a) Random rubble masonry for foundat: & ﬂ
() R.C.C. roof in 16 em thick. [/ ) g !
- - - = i

XI Aroacisin embankmegt, having uniform lo L 1dinal slope of é,
1 in 130. The formatioll width is 4 metre and side slope is 1 in2. |
The height of formation at starting point is 6 metre, Calculate i
the gquantity of earthwork for a_length of 500 metre of road i
using trapezoidal formula taking sé&iom at 20 metre interval, 16 i

3 (2210208 .101200x) ,: J
01083°— ag) s ?:

(8eamo oeseo QL0 a0 gmmamw&méa,) gl
I 1. smvaueadioot €009 ° MIBatarion e, ' 5§
2. caomd|alo0leo UdH9MIR11001 ogemosaimm® ? )

3. 2030 sy, @mIenss alymoruemam® ?




